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Report of Aptitude Test: 

Department of Mathematics conducted Aptitude Test on 05th October 2021 for 

the students of B.Sc. Sem I online using Google forms. Questions pertaining to 

the basic knowledge were asked. This activity is important to analyze the 

problem solving skills in Mathematics and to check the basic subject 

understanding of the admitted students. With the help of this activity we 

identify the slow learners and fast learners. Special emphasis is given to slow 



learners to improve their understanding of the subject. Students of BSc Sem I 

attempted the questions and some of the responses are attached with the 

report. 
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(A) 70

(B) 70.5

(C) 75

(D) 75.5

2 points

(A) 0

(B) 2

(C) 4

(D) 8

Group *

Q1. What is the average of first 150 natural numbers? *

Q2. |–4| + |4| – 4 + 4 = ? *



20/12/2021, 13:05 Aptitude Test for BSc Sem 1 Mathematics 2021-22

https://docs.google.com/forms/d/1zB5Bn-Crueeij81iXxOnrbfJhPLST0VXfyXAA86EXe0/edit#response=ACYDBNh2-AWCJUb84HV39Y5Na7ryDpv… 3/7

2 points

L.C.M
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L.C.M

H.C.F + L.C.M

H.C.F × L.C.M

2 points

distributive law

Inverse law

associative law

commutative law

Q3. For two or more algebraic expressions, the expression of highest degree which
divides each of them without remainder is called *

Q4. Product of two Numbers ⁄ L.C.M = *

Q5. The law which does not hold in multiplication of matrices is known as *
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Q6. Factorization of x³ + 8 is equal to *

Q7. The discriminant of 2x² + 5x - 1 is *

Q8. The product of 3 cube roots of unity is/are *
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2 points

(a) 5

(b) 0

(c) 1

(d) None of these

Q9. Roots of the equation 9x² - 9x + 1 = 0 are *

Q10. If x <0 then | x | is equal to *

Q11. f (x) is a continuous function and takes only rational values. If f (0) = 3, then f (2)
equals *



20/12/2021, 13:05 Aptitude Test for BSc Sem 1 Mathematics 2021-22

https://docs.google.com/forms/d/1zB5Bn-Crueeij81iXxOnrbfJhPLST0VXfyXAA86EXe0/edit#response=ACYDBNh2-AWCJUb84HV39Y5Na7ryDpv… 6/7
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(a) –2
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(c) 2

(d) Not defined

2 points
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2 points

(a) 2

(b) 17/3

(c) 15/2

(d) -5

Q12. The value of derivative of f (x) = |x –1| + |x –3| at x = 2 is *

Q13. If a function f is not defined at x = a then the limitlim f(x) as x approaches anever
exists.

Q14. P is a point on the line segment joining the points (3, 5, -1) and (6, 3, -2). If y-
coordinate of point P is 2, then its x-coordinate will be *
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2 points

(a) x = 0, y = 0

(b) x = 0, z = 0

(c) y = 0, z = 0

(d) y = 0

This content is neither created nor endorsed by Google.

Q15. The equations of y-axis in space are *

 Forms
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(A) 70

(B) 70.5

(C) 75

(D) 75.5

2 points

(A) 0

(B) 2

(C) 4

(D) 8

Group *

Q1. What is the average of first 150 natural numbers? *

Q2. |–4| + |4| – 4 + 4 = ? *
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2 points

distributive law

Inverse law

associative law

commutative law

Q3. For two or more algebraic expressions, the expression of highest degree which
divides each of them without remainder is called *

Q4. Product of two Numbers ⁄ L.C.M = *

Q5. The law which does not hold in multiplication of matrices is known as *
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Q6. Factorization of x³ + 8 is equal to *

Q7. The discriminant of 2x² + 5x - 1 is *

Q8. The product of 3 cube roots of unity is/are *
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2 points

real, equal

real, unequal
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x

0

1
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2 points

(a) 5

(b) 0

(c) 1

(d) None of these

Q9. Roots of the equation 9x² - 9x + 1 = 0 are *

Q10. If x <0 then | x | is equal to *

Q11. f (x) is a continuous function and takes only rational values. If f (0) = 3, then f (2)
equals *
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(d) -5

Q12. The value of derivative of f (x) = |x –1| + |x –3| at x = 2 is *

Q13. If a function f is not defined at x = a then the limitlim f(x) as x approaches anever
exists.

Q14. P is a point on the line segment joining the points (3, 5, -1) and (6, 3, -2). If y-
coordinate of point P is 2, then its x-coordinate will be *
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2 points

(a) x = 0, y = 0

(b) x = 0, z = 0

(c) y = 0, z = 0

(d) y = 0
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Q15. The equations of y-axis in space are *

 Forms
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(A) 70

(B) 70.5

(C) 75

(D) 75.5

2 points

(A) 0

(B) 2

(C) 4

(D) 8

Group *

Q1. What is the average of first 150 natural numbers? *

Q2. |–4| + |4| – 4 + 4 = ? *
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2 points

distributive law

Inverse law

associative law

commutative law

Q3. For two or more algebraic expressions, the expression of highest degree which
divides each of them without remainder is called *

Q4. Product of two Numbers ⁄ L.C.M = *

Q5. The law which does not hold in multiplication of matrices is known as *
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Q6. Factorization of x³ + 8 is equal to *

Q7. The discriminant of 2x² + 5x - 1 is *

Q8. The product of 3 cube roots of unity is/are *
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(d) None of these

Q9. Roots of the equation 9x² - 9x + 1 = 0 are *

Q10. If x <0 then | x | is equal to *

Q11. f (x) is a continuous function and takes only rational values. If f (0) = 3, then f (2)
equals *
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(d) -5

Q12. The value of derivative of f (x) = |x –1| + |x –3| at x = 2 is *

Q13. If a function f is not defined at x = a then the limitlim f(x) as x approaches anever
exists.

Q14. P is a point on the line segment joining the points (3, 5, -1) and (6, 3, -2). If y-
coordinate of point P is 2, then its x-coordinate will be *



20/12/2021, 13:06 Aptitude Test for BSc Sem 1 Mathematics 2021-22

https://docs.google.com/forms/d/1zB5Bn-Crueeij81iXxOnrbfJhPLST0VXfyXAA86EXe0/edit#response=ACYDBNibc15oriK9thrLopzYT_2DI3i4aoL… 7/7

2 points

(a) x = 0, y = 0

(b) x = 0, z = 0

(c) y = 0, z = 0
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Q15. The equations of y-axis in space are *
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(A) 0

(B) 2

(C) 4

(D) 8

Group *

Q1. What is the average of first 150 natural numbers? *

Q2. |–4| + |4| – 4 + 4 = ? *
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2 points

distributive law

Inverse law

associative law

commutative law

Q3. For two or more algebraic expressions, the expression of highest degree which
divides each of them without remainder is called *

Q4. Product of two Numbers ⁄ L.C.M = *

Q5. The law which does not hold in multiplication of matrices is known as *
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Q6. Factorization of x³ + 8 is equal to *

Q7. The discriminant of 2x² + 5x - 1 is *

Q8. The product of 3 cube roots of unity is/are *
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Q9. Roots of the equation 9x² - 9x + 1 = 0 are *

Q10. If x <0 then | x | is equal to *

Q11. f (x) is a continuous function and takes only rational values. If f (0) = 3, then f (2)
equals *
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Q12. The value of derivative of f (x) = |x –1| + |x –3| at x = 2 is *

Q13. If a function f is not defined at x = a then the limitlim f(x) as x approaches anever
exists.

Q14. P is a point on the line segment joining the points (3, 5, -1) and (6, 3, -2). If y-
coordinate of point P is 2, then its x-coordinate will be *
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(d) y = 0
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Q15. The equations of y-axis in space are *
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Group *

Q1. What is the average of first 150 natural numbers? *

Q2. |–4| + |4| – 4 + 4 = ? *
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2 points

distributive law

Inverse law

associative law

commutative law

Q3. For two or more algebraic expressions, the expression of highest degree which
divides each of them without remainder is called *

Q4. Product of two Numbers ⁄ L.C.M = *

Q5. The law which does not hold in multiplication of matrices is known as *
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Q6. Factorization of x³ + 8 is equal to *

Q7. The discriminant of 2x² + 5x - 1 is *

Q8. The product of 3 cube roots of unity is/are *
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(d) None of these

Q9. Roots of the equation 9x² - 9x + 1 = 0 are *

Q10. If x <0 then | x | is equal to *

Q11. f (x) is a continuous function and takes only rational values. If f (0) = 3, then f (2)
equals *



20/12/2021, 13:07 Aptitude Test for BSc Sem 1 Mathematics 2021-22

https://docs.google.com/forms/d/1zB5Bn-Crueeij81iXxOnrbfJhPLST0VXfyXAA86EXe0/edit#response=ACYDBNhKYaWiwv5Qw15azJtXdKWNRT… 6/7

2 points

(a) –2

(b) 0

(c) 2

(d) Not defined

2 points

True

False

2 points

(a) 2

(b) 17/3

(c) 15/2

(d) -5

Q12. The value of derivative of f (x) = |x –1| + |x –3| at x = 2 is *

Q13. If a function f is not defined at x = a then the limitlim f(x) as x approaches anever
exists.

Q14. P is a point on the line segment joining the points (3, 5, -1) and (6, 3, -2). If y-
coordinate of point P is 2, then its x-coordinate will be *
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2 points

(a) x = 0, y = 0

(b) x = 0, z = 0

(c) y = 0, z = 0

(d) y = 0
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Q15. The equations of y-axis in space are *
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